ITEM #|QTY | NEWMAR # DESCRIPTION ITEM #|QTY | NEWMAR # DESCRIPTION
1 2 - 7 GA. x 1.926 x 27.829 STEEL 14 14 - 090 SHIM . NEWMAR #120206
2 2 - 7 GA. x 1.5 x 20.187 STEEL 15 2 = 3/8-16 x 3 PARTALLY THREADED (NCM J91247A636) *ALL PARTS PAINTED BLACK
3 2 - 7 GA. x 1.5 x 15.75 STEEL 16 2 - BRONZE BUSHING (MCM #2938T22)
4 1 = 3/16” x 1.75 x 1.75 x 2.5 ANGLE IRON 17 4 = COTTOR PIN (NOT SHOWN)
5 2 - 3/16” x 1.5 x 1.5 x 3.0 ANGLE IRON ~1.500 o125
6 2 - 3/16” x 1.5 x 1.5 x 7.0 ANGLE IRON | St ||
7 1 - 3/4” x 39 ROD )
8 2 - 1”7 x 17 35.636 TUBE 1/8>-E—@ 3
9 1 - 3/16” x 1.75 x 1.75 x 27.875 ANGLE IRON
10 6 - 3/8-16 x 1 1/2 PARTIALLY THREADED (MCM #91247A628) —
11 6 - PLASTIC BUSHING (MCM #6389K445)
12 8 = 3/8-16 NYLON LOCK-NUT 8
13 8 - 3/8 WASHER 4 \\@
\@ \Da
§§
4
BED LIFT ASSEMBLY-SIDE VIEW
SCALE: .5 ~ 7
ya ‘
/ 74 |
I , ]
. D 176Po
\ / ~1.500 :“‘3
/ | T~
/ = ||
T ' s / 01254
N
~_ _ - BED LIFT ASSEMBLY-TOP VIEW
DETAIL A DETAIL B SCALE: .5
NEWMAR CORP |Model: (KBQO) K520)(KB20)| Sheet Drawn by: Checked by: [ Revision: aydeq (k621) By: D.E
P.0. Box 30, (SEE INDEX)(K010,)(K621) 1 OF 3 B. S. M. W. Date: 11/19/13
Nappanee, IN. 46550 n —
NS NGHES Title: slugéofr\am JECH Date: Date: Revision: ADDED OPT # K010 PER ECO # 223 By: DK
TTLE BLock: 1—zruce || BED LIFT ASSEMBLY misCioo4 | 4/13/12 11/19/12 Date: 8/19/13




ITEM #]QTY | NEWMAR # DESCRIPTION ITEM #]QTY | NEWMAR # DESCRIPTION
1 2 - 7 GA. x 1.926 x 27.829 STEEL 4 | 14 - 090 SHIM .
2 2 - 7 GA. x 1.5 x 20.187 STEEL 15 2 = 3/8-16 x 3 PARTALLY THREADED (NCM J91247A636) *ALL PARTS PAINTED BLACK
3 2 - 7 GA. x 1.5 x 15.75 STEEL 16 2 - BRONZE BUSHING (MCM #2936722)
4 7 — 3/16° x 1.75 x 1.75 x 2.5 ANGLE IRON 17 4 - COTTOR PIN (NOT SHOWN)
5 2 - 3/16” x 1.5 x 1.5 x 3.0 ANGLE IRON 15,750
6 2 - 3/16” x 1.5 x 1.5 x 7.0 ANGLE IRON
% 14.250
7 1 — 3/4” x 39 ROD R0.250
—— 83:788 0.750 P
8 2 - 17 x 1” 35.636 TUBE : o ~
9 1 - 3/16” x 1.75 x 1.75 x 27.875 ANGLE IRON . 1 P
10 6 - 3/8-16 x 1 172 PARTIALLY THREADED (MCN f91247A628) 5 - '_'_'_'_'_'_'_'_'_"@/ 4
11 6 - PLASTIC BUSHING (NCM #6389K445) ] 14003 ! \
12 8 — 3/8-16 NYLON LOCK-NUT $513
13 8 = 3/8 WASHER ITEM #3
20.187
18.687-
RO.750
L~
R ) B
RO.75
9.915 ITEM 2 ¢0.515
0.510 0.510
27.829
14.125
RO‘75D\ 0,375
2/ 0.370
1 425 1:500 \p 1.
1
$0.760 \ / RO.750
178
ITEM #1
NEWMAR CORP |Model:  (K32Q)(K520)(K620)| Sheet Drawn by: Checked by: ||Revision: aqqeq (k621) By: OD.E
P.0. Box 30, (SEE INDEX)(K010,)(K621) 2 OF 3 B. S. M. W. Date: 11/19/13
Nappanee, IN. 46550 n —
NS INGHES Title: slt}géofr\BED JECH Date: Date: Revision: ADDED OPT # K010 PER ECO # 223 By: DK
TTLE BLock: 1—zruce || BED LIFT ASSEMBLY misCioo4 | 4/13/12 11/19/12 Date: 8/19/13




ITEM #|QTY | NEWMAR # DESCRIPTION ITEM #|QTY | NEWMAR # DESCRIPTION
1 2 - 7 GA. x 1.926 x 27.829 STEEL 14 14 — .090 SHIM .
2 2 - 7 GA. x 1.5 x 20.187 STEEL 15 2 = 3/8-16 x 3 PARTALLY THREADED (NCM J91247A636) *ALL PARTS PAINTED BLACK
3 2 - 7 GA. x 1.5 x 15.75 STEEL 16 2 — BRONZE BUSHING (MCM #2938T22)
4 1 - 3/16” x 1.75 x 1.75 x 2.5 ANGLE IRON 17 4 - COTTOR PIN (NOT SHOWN)
5 2 - 3/16” x 1.5 x 1.5 x 3.0 ANGLE IRON
6 2 = 3/16” x 1.5 x 1.5 x 7.0 ANGLE IRON 0300 [mRO00 O, 5.750 ~0.500
7 1 - 3/4” x 39 ROD J> [0.688
8 2 - 17 x 1”7 35.636 TUBE 1.500 N o 5
9 1 - 3/16" x_1.75 x_1.75 x 27.875 ANGLE IRON — = =\ 90250 e
10 6 - 3/8-16 x 1 1/2 PARTIALLY THREADED (MCM #91247A628) 2x
1 6 - PLASTIC BUSHING (MOM #6389K445) 1500 6.750 1,500
12 8 - 3/8-16 NYLON LOCK-NUT #0:313 i B o1 i B
13 8 - 3/8 WASHER | Kf) 1.Loo v L0656 1300
0.588 N L T '
f 0.39¢-
— 1.500 = L ) 5.250 0.750 -'H‘—OJSS
— 3.000— 0.188
ITEM #5 ITEM #6
27.875
1.004. 1.750+
#1.001 I‘ 12.063 3.750 12.063
— 1 | i
b 1J7i Fo.188 i 1.{50 Q & 1.750
0.750- ! $0.344
- 1.250— JL - 1.750~ (2x) 0.693-
—2.500—~ 0.188
ITEM #9
ITEM #4 1,750+
% P— % O |: 1l50
/8 o 0 i
vop— I |
L@ ’1.750‘\‘E
WELD ASSEMBLY
NEWMAR CORP |Model: (K320> K520)(KB20)| Sheet Drawn by: Checked by: [ Revision: aydeq (k621) By: D.E
P.0. Box 30, (SEE INDEX)(K010,)(K621) 3 OF 3 B. S. M. W. Date: 11/19/13
Nappanee, IN. 46550 —
NS INGHES Title: slugéofr\am JECH Date: Date: Revision: ADDED OPT # K010 PER ECO # 223 By: DK
TTLE BLock: 1—zruce || BED LIFT ASSEMBLY wiscigos | 4/13/12 |11/19/12 Date: 8/19/13




